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[0 2] emacs program.c
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pwd
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mv D7 ..

[0 3] gcc -o hoge program.c
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2 CcOObog

2.1 OO

(O 1] (0 2] (O 3]
main 0 O int i, j, fuga; double x, y, hoge;

[0 4] [0 5] [0 6]
O0o0OoO0ooooooooa (a1 (b)0 (¢ (a)a:12  b:4 (b)a:d b4
ooooooo d1 (e)1 (Ho (c)a:32 b4 (d)a:2 b4

double hoge[10000]; (e)a:8  b:b (Ha:8 b3

o 7]

gbbbobooobodguoobobbob vaxNOOogno 1tooooigngnon

22 0O0OO
[0 1] O [0 2] d
if ((10<=a)&&(a<=100){
b=1;
if (a<=0){ }elsed{
x*=-1; b=-1;
} }
[0 3] O [0 4] |
for(i=1;i<=100;i++){ for(i=1;i<=100;i++){
printf ("%d\tHelloWorld\n",i) ; printf ("%d\t%d\t%d\n",i, i*i, ixix*i);
} }
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(0 1] 80 [0 2] [sO]
doooooooooooooooon doooooooooooooooon
g
0 a=1 b=2
c=4 d=3
i=2 j= e=6 f=25
k=72 m=61 glol =8 gli]l =7

3 booobooo
3.1 00

[z50]
g

#include <stdio.h>

int main(void){
int i, sum;

sum=0;

for(i=1; i<=1000; i++){
sum+=i;

}

printf("00 %d OO \n",sum);

return 0;



3.2 0OOO0OOOO

O

#include <stdio.h>
#include <math.h>

double taylor_sin(double rad, int n);

/% ===+/
/* 00000 */
/% */
int main(void){

int deg;

double rad;

for(deg=0;deg<=360;deg++){
rad=M_PIxdeg/180.0;
printf ("%d\t%f\t%f\n" ,deg,sin(rad) ,taylor_sin(rad,21));

}

return O;
}
/% ===x/
/* 000000000OO0O00d */
/% */

double taylor_sin(double rad, int n){
double value,term;
int i;
term=rad;

value=term;

for(i=3;i<=n;i+=2){
term=-term/(i*(i-1))*radx*rad;
value+=term;

}

return value;



